Learning intent: Understand the effects of engineering achievements. (LO1)

Engineering sectors and achievements revision
[image: ]What the exam board say:
This means you need to be able to: 
· Identify different sectors of engineering
· Describe what the sectors produce
· Explain how the sectors and products have developed
· Analyse how engineering affects the environment 
Learning intent: 
Understand how engineered products have changed over time and explain how these use modern technology and affect the environment. 	
Success criteria: 
L2 Distinction: (bold below) Detailed explanations of products made and job roles within all engineering sectors. Clear explanation of the different environmental effects of engineering and how these can be minimised or improved.  
L2 Merit: (underlined below) Descriptions of products made and job roles within all engineering sectors. Clear description of the different environmental effects of engineering and how these can be minimised or improved.  
[image: ]L2 Pass: (italics below) Identification of products made and job roles within all engineering sectors. Identification of the different environmental effects of engineering and how these can be minimised or improved.  
[image: Image result for aeroplanes"][image: Image result for solar aeroplanes"]WAGOLL: In the aerospace sector of Engineering products are designed and manufactured to contribute to an object which flies e.g. a plane, helicopter, microlight etc. Engineers currently are working to make aircrafts which are lighter and therefore more efficient to develop with customer demands, reduce running costs and have less of a negative effect on the environment through burning fuels. The safety of aircrafts is very important and therefore exact components are needed to be produced, checked and maintained, such as elements within the engine. The sector has recently developed planes utilising solar energy through attaching solar panels to the wings as these have a high surface area, therefore not emitting fossil fuels which damage the ozone.
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1. [image: C:\Users\mfawcett5\AppData\Local\Microsoft\Windows\INetCache\Content.MSO\7E9F1B2.tmp]Explain the engineering developments which have happened and allowed the products to develop as below: 
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2. Explain the engineering developments which have happened and allowed the products to develop as below: 
[image: Image result for tv"][image: Image result for old tv"]














3. Explain the engineering developments which have happened and allowed the products to develop as below: 
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4. [image: Image result for kettle"]Explain the engineering developments which have happened and allowed the products to develop as below: 
[image: Image result for old kettle"]
















5. [bookmark: _Hlk28084691]Explain the engineering developments which have happened and allowed the products to develop as below: 
[image: Image result for dyson hairdryer"][image: Image result for old hairdryer"] 










6. [image: ]Explain the engineering developments which have happened and allowed the products to develop as below: 
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7. Explain the engineering developments which have happened and allowed the products to develop as below: 
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8. [image: C:\Users\mfawcett5\AppData\Local\Microsoft\Windows\INetCache\Content.MSO\B2B3A1EE.tmp]Explain the engineering developments which have happened and allowed the products to develop as below: 
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9. [image: Image result for ipad"]Explain the engineering developments which have happened and allowed the products to develop as below: 
[image: C:\Users\mfawcett5\AppData\Local\Microsoft\Windows\INetCache\Content.MSO\54F0D42C.tmp]













10. Explain the engineering developments which have happened and allowed the products to develop as below: 
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	Identify the different types of power
	Describe how energy is created.
	Explain the effect 
 (positives and negatives)

	TIDAL POWER
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	SOLAR POWER
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	NUCLEAR POWER
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	WIND POWER
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	GEOTHERMAL POWER
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	HYDROELECTRIC POWER
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	FOSSIL FUEL POWER STATION
	[image: Image result for fossil fuel power station"]

	
	



[image: https://www.wjec.co.uk/application/themes/WjecCbac/img/wjec-logo.png][image: https://www.wjec.co.uk/application/themes/WjecCbac/img/wjec-logo.png]WJEC Level 1/2 Engineering	                            Produced by M Fawcett	1

image3.jpeg




image4.jpeg




image5.jpeg
investgating the:

Title: Market research ACCESS FMM

-

=

Gesign context
AModem | AModomdosign | Asmplodosign | Amodomdesign | Asmplenut | Amodom design
Asstrisnes Designmade | made fromwood | madefromwood | made frombent | effective design | made from clear
from glass and | and metal bar wood and stylsh | made from bont | glass and dark
wood black lass wood wood
Speciicaton Lookslobe | Complexdesign | Seemsobovery | Complex design Looks (o be Looks (o be
C around the right | gives look of cheap and gives lookof | around the right | around the right
ost price for target expansive. affordable expansive product | price for target price for target
audience product audience audience
2030yeardd | 3040yearold | 4050yearold | 3040yearold | 2530yearold | 3040 yearold
C malelfomaloin | Maleflomale in | fomaleinsmall | - Maleffomle in male in large Malerfomale in
o ustomer ‘modenm open large modem house. large modem ‘apartment large modem
apartment house house house
Mado flomraw | Madefromraw | Madefomraw | Madefomraw | Madefromraw | Madefrom raw
Environment | matenats materials materils ‘materils materials ‘malerials
[beveiopment and Could shatter f | Sharp comers | Smalland easyto | Glass could No sharp edges Glass could
Research S Someone fell | someone could inlo shater if but someone Shater if
afety ontot fallon someone fellonto | could stilwalk | someone fellonto
it ot it
Medium design, | Large design ‘Smal design, Lorge design, | Medium design, | Large design,
S proportions W120cmx mightbe abittoo | seemstobe a bit proportions seems to be a bit
ize appropriate for | D70cm x Hadcm |  smallto clent | too big for cent | appropriate for my | too big for client
Planof Make my clent clent
Toholdthings | To hold things Tostore Toholdthings | To hold things To hold things.
F . and look and look belongings | and look pleasing | and look pleasing | and look picasing
unction pleasing pleasing
Glass with Ash with metal Pine wood Black glassheld | Simplebentwood | Dark wooden
Evaluation M ) wooden shelf | bar connections by bent wood and curls frame with glass
aterials metal fitting shelfs.
Reasonable | Baichproduced | Simpledosign | Reasonable doign | Baich produced | Reasonable deign
Moanutact doign soitcoud | becausoofthe | couldbomadeon | sotcould be becausoofthe | soit could be
anufacture | "o, crostedon | compleiy of mass createdonmass | complexityof | created on mass
mass design design





image6.jpeg




image7.jpeg




image8.jpeg




image9.jpeg




image10.jpeg




image11.png




image12.jpeg




image13.jpeg




image14.jpeg




image15.jpeg




image16.png




image17.png




image18.jpeg
s cs ¢

cagou T

vl T ? B0




image19.jpeg




image20.jpeg
S




image21.jpeg
..ml@




image22.jpeg




image23.jpeg




image24.png




image25.jpeg




image26.jpeg




image27.jpeg




image28.jpeg




image29.jpeg




image30.png
L e

Condenser

Turbine

5 Wetheat

Welhead
Ground surace

Subsurtace
iecton





image31.jpeg




image32.jpeg




image1.png
Learning Outcomes Assessment Criteria Marks %
LOT understand effects | AC1.1 describe engineering developments
of engineering 1521 | 25-35%

achievements

AC1.2 explain effects of engineering achievements

AC1.3 explain how environmental issues affect
engineering applications
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